SughayerSeparates9

08/14/14 04:39:00
Page 1/1

e

a

Index: 0, Unicode:

Nodes: 692, Contours: 22
BBox: (0, 0) - (2800, 491)
LSB: 0, RSB: 2, Width: 2802
Isb: 30, rsb: 26, width: 2746
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Index: 2, Unicode: 0063
Nodes: 382, Contours: 43
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: -2, Width: 2798

e

Index: 4, Unicode: 0065
Nodes: 349, Contours: 3

BBox: (0, 10) - (2800, 548)
LSB: 0, RSB: -2, Width: 2798
Ish: 1300, rsb: 1298, width: 200
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Index: 6, Unicode: 0067
Nodes: 217, Contours: 4
BBox: (0, 0) - (2800, 388)
LSB: 0, RSB: 6, Width: 2806
Isb: 8, rsh: 86, width: 2712
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Index: 8, Unicode: 0069
Nodes: 812, Contours: 7
BBox: (0, 0) - (2800, 499)
LSB: 0, RSB: 2, Width: 2802
Isb: 564, rsb: 569, width: 1669
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Index: 10, Unicode: 006B
Nodes: 742, Contours: 2
BBox: (0, 0) - (2800, 402)
LSB: 0, RSB: -2, Width: 2798
Ish: 642, rsb: 650, width: 1506
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Index: 12, Unicode: 006D
Nodes: 323, Contours: 3

BBox: (0, 0) - (2800, 398)

LSB: 0, RSB: -2, Width: 2798
Ish: 1293, rsh: 1290, width: 215
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Index: 14, Unicode: 006F
Nodes: 388, Contours: 6

BBox: (0, 0) - (2800, 390)

LSB: 0, RSB: -2, Width: 2798
Ish: 1064, rsb: 1054, width: 680
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Index: 16, Unicode: 0071
Nodes: 380, Contours: 3
BBox: (0, 0) - (2800, 412)
LSB: 0, RSB: 6, Width: 2806
Ish: 323, rsh: 341, width: 2142
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Index: 18, Unicode: 0073
Nodes: 389, Contours: 5
BBox: (0, 0) - (2800, 400)
LSB: 0, RSB: 2, Width: 2802
Ish: 776, rsh: 925, width: 1101
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Index: 20, Unicode: 0075
Nodes: 367, Contours: 3
BBox: (0, 0) - (2800, 320)
LSB: 0, RSB: 10, Width: 2810
Isb: 354, rsb: 363, width: 2093
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Index: 22, Unicode: 0077
Nodes: 416, Contours: 3
BBox: (0, 0) - (2800, 301)
LSB: 0, RSB: 6, Width: 2806
Isb: 50, rsb: 63, width: 2693
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Index: 24, Unicode: 0079
Nodes: 264, Contours: 8
BBox: (0, 0) - (2800, 256)
LSB: 0, RSB: 6, Width: 2806
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Index: 1, Unicode: 0062
Nodes: 105, Contours: 7

BBox: (0, 0) - (2800, 452)

LSB: 0, RSB: 2, Width: 2802
Ish: 1339, rsh: 1341, width: 122
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Index: 3, Unicode: 0064
Nodes: 267, Contours: 6
BBox: (0, 0) - (2792, 516)
LSB: 0, RSB: 6, Width: 2798
Ish: 1724, rsh: 95, width: 979
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Index: 5, Unicode: 0066
Nodes: 118, Contours: 2

BBox: (0, 0) - (2800, 716)

LSB: 0, RSB: 6, Width: 2806
Isb: 1308, rsb: 1078, width: 420
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Index: 7, Unicode: 0068
Nodes: 352, Contours: 4

BBox: (0, 0) - (2800, 406)

LSB: 0, RSB: -2, Width: 2798
Ish: 1118, rsh: 1099, width: 581
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Index: 9, Unicode: 006A
Nodes: 475, Contours: 4
BBox: (0, 0) - (2800, 439)
LSB: 0, RSB: 2, Width: 2802
Isb: 106, rsh: 93, width: 2603
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Index: 11, Unicode: 006C
Nodes: 513, Contours: 17
BBox: (0, 0) - (2800, 366)

LSB: 0, RSB: 2, Width: 2802
Ish: 1327, rsh: 1334, width: 141
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Index: 13, Unicode: 006E
Nodes: 256, Contours: 4
BBox: (0, 0) - (2800, 402)
LSB: 0, RSB: -2, Width: 2798
Isb: 954, rsh: 953, width: 891
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Index: 15, Unicode: 0070
Nodes: 376, Contours: 2
BBox: (0, 0) - (2800, 402)
LSB: 0, RSB: 2, Width: 2802
Isb: 736, rsh: 758, width: 1308
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Index: 17, Unicode: 0072
Nodes: 336, Contours: 5
BBox: (0, 0) - (2800, 340)
LSB: 0, RSB: -6, Width: 2794
Ish: 64, rsh: 148, width: 2582
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Index: 19, Unicode: 0074
Nodes: 444, Contours: 7
BBox: (0, 0) - (2800, 428)
LSB: 0, RSB: -2, Width: 2798
Ish: 114, rsb: 108, width: 2576
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Index: 21, Unicode: 0076
Nodes: 372, Contours: 3
BBox: (0, 0) - (2800, 394)
LSB: 0, RSB: 2, Width: 2802
Isb: 955, rsb: 956, width: 891
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Index: 23, Unicode: 0078
Nodes: 296, Contours: 5
BBox: (0, 0) - (2800, 394)
LSB: 0, RSB: 2, Width: 2802
Ish: 257, rsh: 253, width: 2292
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Index: 25, Unicode: 007A
Nodes: 118, Contours: 2
BBox: (0, 0) - (2800, 301)
LSB: 0, RSB: -2, Width: 2798
Isb: 850, rsh: 838, width: 1110



